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UEAS 446 147 178 120
£ B
224F 100. 0 4.5| 100.0 -2.8| 100.0 9.1 100.0 7.9
234F 99. 4 -0.6[ 100.8 0.8 97.0 -3.1| 101.1 1.1
244F 98.0 -1.4) 103.6 2.8 91.7 -5.4| 100.4 -0.7
254F 98.3 0.3| 102.7 -0.9 91.9 0.2| 102.4 .0
264F 106. 8 8.7 121.1 18.0 93.4 1.6] 109.2 6.6
274 | 115.3 8.0 122.4 1.1 106.6 14. 2| 119.5 .5
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112.4 -2.9 11.0ff 123.3 -12.6 11.2( 115.2 21.6 8.8 94.9 -18.0 15.0
10 105. 4 -6. 2 4.3\ 125.7 2.0 17.6 99.5 -13.6 -1.7 89.5 -5.7 -4.6
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8 118.2 4.1 2.2 124.8 2.1 -11.5] 111.4 8.4 17.5] 120.2 1.1 3.8
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: DK : ok : DK : ok : DK : ok
L (%) 1 (%) L (%) 1 (%) L (%) 1 (%) L (%) 1 (%) L (%) (%) L (%) 1 (%)
2 10000 2667 2081 756 329 417
224F (100. 0 -1.1 [100.0 =0.5 [100.0 -2.4 [100.0 0.1 |100.0 -6.4 [100.0 1.0
234 | 99. 8 0.2 99.8 0.2 |99.1 0.9 |103.3 3.3 |97.3 2.8 [99.2 0.8
24471 99. 9 0.1199.6 0.1 ]98.7 -0.4 |107.4 4.0 | 97.6 0.3 199.5 0.3
254 100. 1 0.2 99.8 0.2 [98.4 0.3 |109.6 2.0 |95.5 2.1 |100.4 0.9
264 (102, 7 2.6 [103.9 4.2 198.4 0.0 [114.6 4.6 198.0 2.7 [101.0 0.6
274F |103. 7 0.9 |108.1 4.0 198.4 -0.1 [112.0 -2.3 [100.8 .9 [100.6 -0.4
27/5|104.4 0.6 1.3 [109.5 1.1 5.6 {98.5 0.2 0.1 |114.4 0.5 -2.1 [101.9 -1.1 0 |101.4 0.6 -0.8
6 |103.9 -0.5 0.4 |108.5 -1.0 3.6 (98.4 -0.1 -0.1 |113.0 ~-1.2 -3.4 (10L..2 -0.7 2.3 |100.7 -0.7 -2.0
7 Jt03.9 -0.1 0.5 |108.2 -0.2 4.2 (98.4 0.0 -0.1 |111.7 -1.1 -4.3 |10..1 0.0 3.0 (98.8 -1.9 -1.9
8 (104.0 0.2 0.0 f109.1 0.8 2.8 (98.4 0.0 0.0 (110.7 -0.9 -5.0 |100.0 ~-1.1 1.3 197.0 -1.8 ~-1L.9
9 (103.9 -0.1 0.2 (109.0 -0.1 2.9(98.3 0.0 0.0 (109.7 -0.9 -5.6 [100.5 0.4 3.1 |102.6 5.7 0.3
10 f103.8 -0.2 0.4 (108.2 -0.7 3.4 (98.4 0.1 0.0 |109.3 -0.4 -5.6 |102.2 1.7 4.5 |103.3 0.7 1.5
11 j103.5 -0.2 0.5 (107.5 -0.7 3.4 (98.4 0.0 0.1 |109.4 0.1 -5.2 |101.2 -1.0 3.3 |103.7 0.4 1.3
12 |103.3 -0.2 -0.2 |107.6 0.1 1.2 ]98.1 -0.4 -0.3 |109.1 -0.2 -5.3 [101.7 0.5 4.2 |102.2 -1.4 -0.3
28/1(103.3 0.0 0.2 [109.6 1.8 2.7 (98.1 0.0 -0.3 [107.9 -1.1 -5.6 |100.2 -1.5 1.2 |100.8 -1.5 1.4
2 |t03.3 0.0 0.3 |110.2 0.6 3.0 (98.0 0.0 -0.4|107.2 -0.6 -5.8 [99.1 -1.1 0.6 |100.1 -0.6 1.1
3 |t03.3 0.0 -0.1|110.0 -0.2 2.4 (98.1 0.0 -0.4 |106.4 -0.8 -6.8 [98.5 -0.5 -0.9 |10l.9 1.8 3.7
4 (103.7 0.4 -0.1 |110.1 0.1 1.6 {98.1 0.1 -0.1)105.9 -0.5 -7.0 [101.4 2.9 -1.6 |103.9 2.0 3.0
5 [103.8 0.1 -0.6 [110.4 0.3 0.8 [98.2 0.0 -0.3 [106.4 0.4 -7.0 [99.8 ~-1.6 -2.1 [103.9 0.0 2.5
RRE R | XB-BE # kil BOR OB OR O R
o TmE T T TWET T T TWE T TWE[ T THE
A |HE FoRiAK (AA) |48 BRiA L, (RA) |1 BaiAL, (AR) 48 BaAL, (RA) | # K AL, (AA)
: D : Db : D : Db : D
L (%)t (%) (%) 1 (%) L (%)t (%) (%) 1 (%) L (%)t (%)
Ve 445 1409 261 1062 572
224F (100. 0 0.0 |100.0 1.8 [100.0 =20.9 {100.0 —-2.0 [100.0 1.5
234 99. 2 -0.8 |102.0 2.0 [93.7 6.3 |96.0 =4.0 |104. 1 4.1
244F- | 98. 2 -1.0 |102.5 0.4 |94.2 0.4 [94.8 -1.2 |104.0 0.1
254 97. 6 -0.6 |103.8 1.4 194.7 0.6 [93.8 =-1.0 |105.1 1.0
264F | 98. 5 0.9 |106.5 2.5 |96.3 1.7 ]97.1 3.5 [108.8 3.6
274 (199. 7 1.2 ]103.7 -2.6 | 97.5 1.2 199.0 2.0 [110.1 1.2
27/5(100.0 0.3 0.8 [104.6 1.1 -2.7(97.2 0.0 .4198.5 0.3 7 |110.1 0.1 0.9
6 199.8 -0.2 1.0 [1048 0.2 -2.6 [97.2 0.0 0.4|98.3 -0.3 0.7 [109.8 0.2 0.4
7 199.8 0.1 0.9 [1048 0.0 -3.2(97.9 0.8 1.299.9 16 1.7[109.7 0.1 0.1
8 (100.0 0.2 1.4 (1042 -0.6 -4.0(97.9 0.0 1.2 |10L.4 1.5 1.2 (110.0 0.3 1.1
9 [100.5 0.4 1.4[103.3 -0.9 -3.2[97.9 0.0 1.2/99.9 -1.5 1.0 [110.5 0.5 1.2
10 (100.0 -0.4 1.0 (103.2 -0.1 -3.4 (97.9 0.0 1.2]99.9 0.0 1.4 |110.2 -0.3 0.3
11 099.7 0.4 1.0 1027 -0.4 -3.4(97.9 0.0 1.2 [100.1 0.2 2.5 [110.3 0.1 0.9
12 199.9 0.2 1.5 (102.8 0.0 -3.0(97.9 0.0 1.2]99.3 -0.9 1.0 [110.4 .1 0.9
28/1100.1 0.2 1.3 [100.9 -1.9 -2.6 |{97.9 0.0 1.2 |98.8 -0.5 1.6 |110.5 0.1 0.4
2 1001 0.0 1.4{100.3 -0.5 -2.3(97.9 0.0 1.2/98.9 0.1 1.4[110.6 0.1 0.3
3 |t00.2 0.1 0.8 |100.4 0.0 -3.6 (97.9 0.0 1.2]99.3 0.4 1.5 |110.5 -0.1 0.5
4 J100.1 -0.1 0.4 [100.9 0.6 -2.5(99.1 1.2 2.0[99.9 0.6 1.7 [11.3 0.8 1.2
5 [100.7 0.5 0.6 [100.9 -0.1 -3.6 [99.1 0.0 2.0 [99.8 -0.1 1.3 [11L.0 -0.3 0.8
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R 224F 100. 0 -0.7 [ 100.0 -1.1 [ 100.0 -0.5
23 99.7 0.3 99. 8 0.2 99. 6 0.4
24 99. 7 0.0 99. 9 0.1 | 100.1 0.4
25 100. 0 0.4 | 100.1 0.2 | 100.5 0.4
26 102. 8 2.7 | 102.7 2.6 | 103.1 2.6
27 103. 6 0.8 | 103.7 0.9 | 104.0 0.8
RE2TAE 5H| 1040 0.3 0.5 | 104.4 0.6 1.3 | 1044 0.7 0.6
6 103.8  -0.2 0.4 | 103.9 -0.5 0.4 | 1045 0.1 0.9
7 103.7 0.1 0.2 | 103.9 -0.1 0.5 | 1042 -0.3 0.4
8 103.9 0.2 0.2| 1040 0.2 0.0 | 1041 -0.2 0.1
9 103.9 0.1 0.0 | 103.9 -0.1 0.2 | 1044 0.3 0.3
10 | 103.9 0.1 0.3 | 103.8 -0.2 0.4 | 104.3 0.1 0.3
11 | 103.5 -0.3 0.3 | 103.5 -0.2  0.5| 103.9 -0.4 0.6
12 | 103.5 0.1 0.2 | 103.3 -0.2 -0.2| 104.2 0.3 0.7
VR84 1H| 103.0  -0.4 0.0 | 103.3 0.0 0.2 | 1035 -0.6 0.1
2 103.2 0.1 0.3 | 103.3 0.0  0.3] 1033 -0.2 0.4
3 103.3 0.1 -0.1] 103.3 0.0 -0.1| 103.5 0.2 0.2
4 103.4 0.2 0.3 | 103.7 0.4 -0.1| 103.5 0.0 0.2
5 103.6 0.1 -0.4| 103.8 0.1 -0.6 | 103.8 0.3 0.6
[T KB W T
E LRI E LRI E LRI
£ A B & oA (Iﬂtéﬂ) B & oA (Iﬂtéﬂ) 8 % oAk (IEJJE)
L (%) 1 (%) L (%) 1 (%) L (%) 1 (%)
R 224F 100. 0 -0.8 [ 100.0 -1.0 [ 100.0 -0.7
23 100. 1 0.1 | 100.1 0.1 99. 4 0.6
24 99. 9 0.2 99. 7 -0.3 99. 2 0.2
25 100. 1 0.2 99.7 0.1 99. 2 0.0
26 102. 6 2.5 | 102.2 2.5 | 101.9 2.7
27 103.3 0.6 | 103.7 1.5 | 102.6 0.7
VRR2THE BH| 103.7 0.3 0.4 | 104.1 0.3 1.4 | 103.1 0.5 0.4
6 103.5  -0.2 0.1 | 103.9 -0.2 1.0 | 1028 -0.3 0.1
7 103.3  -0.1 0.0 | 103.9 0.0 1.0 | 1030 0.2 0.3
8 103.6 0.2 0.0 | 1040 0.1 0.8 | 103.1 0.1 0.2
9 103.8 0.2 0.1 | 104.6 0.5 1.3 ] 103.0 0.0 0.1
10 | 103.8 0.0 0.2 | 1044 -0.1 1.3 | 103.0 0.1 0.3
11 | 103.2 -0.6 0.0 | 103.9 0.5 1.2 | 1026 -0.3 0.2
12 | 102.9 -0.3  0.1| 103.7 -0.2 0.8 | 1026 0.0 0.0
Vpk284: 1H| 102.6  -0.3  -0.1| 103.5 -0.2 0.7 | 101.9 -0.7 0.0
2 102.7 0.1 0.1 103.5 0.0 0.9 | 102.0 0.1 0.3
3 103. 1 0.3 0.1 103.6 0.1 0.5 | 102.1 0.1 0.2
4 103.5 0.4  0.1] 103.9 0.3 0.1 ] 1026 0.5 0.0
5 103.6 0.1 0.0 | 1040 0.0 -0.1| 102.8 0.2 0.3
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27/5 |104.4 [103.5 |105.4 [104.3 [101.2 |109.5 !105.8 '112.9 !106.6 !109.4 '114.8 |143.9 !101.7 '106.8 1116.7 | 99.7 ' 99.8 1104.2
6 |103.9 [103.2 [104.8 [104.0 |101.0 |108.5 1104.0 1114.5 +107.4 1110.7 1109.1 1133.9 1101.4 1106.4 1113.1 1 99.9 + 98.5 1106. 1
7 [103.9 |103.4 |104.7 |104.2 |101.2 |108.2 1105.6 1114.8 1107.9 '111.5 !106.7 !119.6 '102.5 '107.2 '116.3 | 99.4 ! 98.1 1106. 1
8 1040 [103.4 [104.9 |104.2 [101.4 [109.1 !105.9 !116.6 }107.3 !111.3 '112.4 1120.9 !101.2 !108.5 }117.0 | 98.1 ! 98.8 1106. 1
9 [103.9 [103.3 [104.8 |104.1 [101.5 [109.0 1106.8 1115.6 1107.5 i111.4 1117.1 1105.9 1102.0 1107.5 1117.5 1 99.8 i 98.5 1106. 1
10 [103.8 [103.4 [104.6 |104.2 |101.6 |108.2 1107.5 1113.2 1108.0 i111.6 1113.9 1100.2 1102.3 1109.0 :116.3 1 99.1 ' 98.9 1106.0
11 [103.5 [103.4 104.3 |104.2 |101.6 |107.5 1107.8 '113.6 '109.2 '111.9 '103.1 1103.1 1100.7 $109.8 $115.3 '101.2 ' 98.9 '106. 4
12 [103.3 |103.2 [104.1 |104.0 |101.3 [107.6 '107.9 |117.7 1108.7 '112.1 }100.0 !105.0 '101.2 }110.0 !115.4 '100.3 | 97.5 !106.5
28/1 [103.3 [102.7 [104.2 |103.5 [101.1 [109.6 1106.9 1116.7 1109.9 1112.5 1103.7 1134.0 1101.5 1110.1 :117.5 1 9.9 1 98.5 1106.5
2 11033 [102.5 [104.1 [103.2 [101.0 |110.2 1107.9 1113.7 1107.4 1117 1109.7 1423 '101.1 1110.5 '117.0 1100.1 ! 99.8 1106.5
3 {103.3 [102.5 |104.1 {103.3 [101.2 |110.0 !107.6 !111.8 }109.9 '111.7 !108.0 !147.6 '101.9 !109.7 !116.1 ' 99.4 | 97.9 !106.5
4 |103.7 {102.9 [104.6 |103.7 [101.6 [110.1 1108.7 113.5 1110.3 1110.8 1109.7 1140.0 1101.5 ;109.1 1115.7 | 99.4 | 97.9 1107.4
5 [103.8 |102.9 |104.7 |103.7 (101.5 [110.4 :1108.2 :1113.8 1109.8 1110.4 :108.0 :151.9 11026 1109.2 1115.3 1 99.4 1 97.7 1107.4
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27/5 | 98.5 1 97.7 1106.5 |114.4 117.0 '114.5 '117.0 '108.6 [101.9 ! 96.3 ! 71.7 1128.6 1120.4 | 96.7 '101.3 [101.4 '105.4 1108.2 ! 105.3
6 |98.4!97.6 !106.8 |113.0 '115.0 !112.5 }117.0 '108.6 [101.2 } 93.1 ! 70.9 !128.6 1120.6 ' 97.8 !101.3 [100.7 '104.0 !108.2 | 103.
7 | 98.4197.6 1106.6 [111.7 1113.4 1110.4 1117.0 1108.6 [101.1 1 91.5 1 70.9 1128.3 1120.7 1 99.7 1101.3 | 98.8 1101.7 1108.2 1 101.4
8 | 98.4197.6 1106.8 [110.7 1112.7 1108.3 1114.8 1108.6 [100.0 | 88.2 | 70.4 1127.8 1121.3 1 99.3 1101.3 | 97.0 1 99.0 1108.2 | 98.6
9 |98.3!97.6 !106.3 |109.7 '111.9 !106.3 !112.6 '108.6 [100.5 | 89.0 ' 69.1 !'127.8 !121.6 '100.1 !101.3 |102.6 '107.3 !108.2 ! 107.2
10 | 98.4 | 97.6 1108.2 [109.3 |111.8 |105.8 '108.6 |108.6 [102.2 | 93.9 | 72.9 |128.6 !121.2 | 99.9 |101.3 |103.3 1108.9 |108.2 | 108.9
11 | 98.4197.6 1108.2 [109.4 1111.9 1106.1 1107.7 1108.6 [101.2 1 91.1 1 73.0 1128.6 1121.8 1 99.0 1101.3 [103.7 1108.5 1108.2 1 108.5
12 [ 98.1197.2 1108.2 [109.1 1111.4 1106.4 1106.4 1108.6 [101.7 : 90.1 ! 74.2 1127.1 1122.6 1101.4 !101.3 [102.2 1106.8 1108.2 | 106.8
28/1(98.1 | 97.2 1107.8 107.9 !110.6 |106.5 | 90.9 !108.6 [100.2 | 88.1 | 75.5 |122.3 |120.2 !100.5 }101.3 |100.8 |105.7 }108.2 | 105.
2 | 98.0 197.2 1107.3 |107.2 1109.7 1106.3 i 86.9 1108.6 | 99.1 1 84.9 1 75.1 1121.3 1120.3 1100.5 1101.3 [100. 1 1104.3 1108.2 1 104.
3 | 98.1197.21107.8 |106.4 1109.0 1105.8 | 80.7 1108.6 | 98.5 : 82.6 : 75.9 !121.1 1122.8 1 99.0 101.3 |101.9 1105.8 1108.2 i 105.7
4 | 98.1197.3 '107.8 |105.9 '108.0 1104.2 | 86.9 1108.6 |101.4 ! 90.7 ! 75.1 '123.9 '122.4 ! 99.9 1100.9 |103.9 $107.1 '108.2 ' 107.0
5 [98.2!97.3:107.9 [106.4 ;109.6 ;103.6 ; 85.6 |108.6 | 99.8 | 88.7 | 73.9 123.9 i118.3 ;100.0 ;100.9 [103.9 !107.6 !108.2 | 107.6
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27/5 [101.6 1102.1 1100.7 | 87.7 | 99.4 1103.5 |100.0 1102.2 | 93.0 1101.4 [104.6 1108.3 1106.7 | 99.3 | 97.2 ! 97.7 1110.0 ! 95.6
6 [100.5 11013} 99.0 1 88.5 ! 99.5 1104.1 | 99.8 1102.2 | 91.7 1101.4 |104.8 1107.9 1107.1} 99.3 | 97.2 1 97.7 1110.0 | 95.6
7 | 97.8 ! 96.6 1100.0 ! 88.5 | 99.5 1102.7 | 99.8 1102.3 | 91.7 11014 |104.8 1110.2 106.4 | 99.8 | 97.9 | 98.9 1110.0 | 95.6
8 92492 90432 97492 94422 9840210443 100402103422 9143210144 104422113442104472 99.8 97492 98492110402 95. 6
9 |99.9 510141 97.5 94.2 98. 6 510448 100.5 510441 92. 1 510144 103.3 510846 510441 99.8 | 97.9 98.9 511040 95. 6
10 {101.3 1100.6 1102.5 + 94.2 1 99.1 1101.1 [100.0 1103.2 i 91.2 1101.4 [103.2 1108.6 1103.9 1 99.8 | 97.9 | 98.9 1110.0 | 95.6
11 {1015 1101.1 11025 ¢ 95.5 1 98.4 1104.8 | 99.7 1102.9 | 89.8 1101.4 [102.7 1108.2 1103.1 1100.2 | 97.9 | 98.9 1110.0 ! 95.6
12 | 98.7 1 98.8 1 98.6 95.5 1100.2 1104.3 | 99.9 1102.4 ! 92.0 '101.4 [102.8 1110.7 1102.6 1100.2 | 97.9 | 98.9 1110.0 ! 95.6
28/1 | 95.4 1 92.9 1100.4 | 95.3 '100.0 1104.3 |100.1 1103.2 | 91.7 '101.4 |100.9 '108.8 | 99.8 1100.2 | 97.9 ! 98.9 1110.0 | 95.6
2 | 951192611000 ! 95.3 | 99.4 '104.8 |100.1 1102.5 | 92.7 '101.4 |100.3 1109.0 | 98.9 '100.1 | 97.9 | 98.9 1110.0 | 95.6
3 | 98.4 95. 1 510448 95.7 510242 510443 100. 2 510249 92.8 510144 100. 4 511141 98. 6 99.9 | 97.9 98.9 511040 95. 6
4 |101.0 510140 510140 96. 0 510544 510849 100. 1 510140 93.2 510243 100.9 510943 510041 99.5 | 99.1 510047 511040 95. 6
5 [100.5 1 99.9 1101.7 1 96.0 1105.4 1108.1 {100.7 1103.0 1 92.7 1102.3 {100.9 1109.2 1100.3 i 99.0 | 99.1 1100.7 1110.0 i 95.6
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27/5 | 98.5 | 74.2 1102.0 1104.6 1101.3 |[110.1 1102.7 $100.0 1122.1 '131.6 '112.0 |112.4 | 98.9 | 98.9 | 98.9
6 | 9831 74.8 1100.7 '104.8 '101.1 [109.8 1102.7 | 98.9 1122.2 11316 11120 |111.7 | 98.9 | 98.6 | 98.9
7 | 99.9 ! 80.9 1100.3 {104.8 11028 [109.7 1102.7 | 97.3 !124.5 1316 {112.0 |109.9 | 99.8 |100.3 | 98.9
8 |101.4 77.3 5103.0 5105.0 5105.3 110.0 5102.7 98. 6 5124.5 5131.6 5112.1 107.4 | 99.8 [102.2 | 98.9
9 | 99.9 1 80.3 1101.4 1104.9 1102.5 |110.5 1102.7 1101.3 1123.9 1131.6 1112.1 [105.9 | 99.8 [100.1 | 98.9
10 | 99.9 1 81.5 1 99.2 1105.1 1103.0 |110.2 1102.7 1100.0 1123.1 1131.6 11121 [105.4 | 99.9 [100.1 | 99.0
11 {100.1 1 82.6 1100.6 1105.1 1102.7 |110.3 1102.7 1100.6 1123.1 1131.6 1112.1 |104.8 | 99.9 [100.3 | 99.0
12 | 99.3 1 78.9 1102.1 1105.1 1101.4 |110.4 1102.7 1100.6 1124.7 1131.6 1112.1 |104.3 [100.2 | 99.6 | 99.0
28/1 | 98.8 | 78.3 1103.7 11051 1100.1 |110.5 1102.7 1101.2 1124.0 11316 !112.1 |100.4 |100.1 | 98.9 | 99.0
2 | 98.9 1 75.9 11023 1105.1 11014 |110.6 1102.7 11016 1124.0 11316 1112.1 | 99.0 |100.1 | 99.0 | 99.0
3 | 99.3 78.5 5102.7 5105.1 5101.5 110.5 5102.7 ilOO.G 5124.8 5131.6 5112.1 97.8 [100.2 | 99.7 | 99.0
4 ] 99.9 1 77.31102.2 1105.2 1102.8 |111.3 1102.7 1100.1 1127.9 1133.6 1113.4 | 98.8 |101.0 [100.0 | 98.6
5 | 99.8 1 75.1 11015 1105.1 1103.5 [111.0 11027 + 99.9 1124.8 1133.6 1113.4 | 99.4 {101.0 | 99.9 | 98.1




